A Ffn1 03 4E JE A
THIE) [ER17 58874 it sk (RUKE) tfiE T3 (i) % B E ) )
X i
T F F = Wi Hb
FHEMEF 3T (52) BTN PN
ESI 1 It = 0
X 7 G| 6,842,000 ]
2 K % H M
( NHEBEE ) ( M) ( M)
THEHEK 100 HFH H( 5 B% H )
T F -8 1T B
Nix o FERIRR (s A H SER I BR 8 A H
Jii THER:  L=76.9m
= i WHENAT (FF v A MUKE) ¢65 L=75m = Ed
HENA T (FLFv X MEFRED) ¢65 N=1{A
(L) KB BRLTT L=0.5m
=B (KEIH) A=46m
XA AR

i _Erfi




G- - o
(HAE © )
* it rEW (1 [ A ) VAN (2 [ A )
7 H o - . n ~ L A n - i =l
&3 A S & & e L & & T
(10)= (13)= (19)= (22)=
L i W W @ D*©®)/3) | 10)-@) (16 16)%(6)/3) | (19-(10)
T. 5 fili # 7 6, 220, 000
KT HFH 6, 220, 000
FflHy T
Wil TR
N o ~ ~ ~ (11)= (14)= (17)= (20)= (23)=
THERL  FH4%AE (2)=(1)*0. 10 (5)=(4)*0. 10 8)=(7)*0. 10 (1040, 10 1D-6) (16)%0. 10 (1940, 10 (22)%0. 10
TR B8R 622, 000
KT %= #H 622, 000
FflHy T
TifE T
B _ _ (12)= (15)= (18)= (21)= (24)=
L% # @)=W+@ ©)=()+) ©)=(N+®) (10)+(11) (13)+(14) (16)+(17) (19) +(20) (22) +(23)
T %= # it 6, 842, 000
KT HFH 6, 842, 000
Fffas T
Wil TR




PERZR

EH0-0001

=
k ok K ITEH
T H - THE - s AR - HEER XD i e H 7 S %H fii
* sk 2|§I$i§ * sk
JERK R
= 2, 262, 326
HEAK RS & T
=W 144, 554
EEHT
Y 144, 554
R
HE B Cadl - EAREY £ETe)
| =y
PR
10 m3
BB
HEX 5w, B Gl - EARY
T&ie)
—2
HE L
4 m3
- DA e i
T W CEL- BAIR Y 25T
| -y

o3—§%ﬂ£—44ﬂ%—1111—¥5%ﬂ




)k ZIK:I:I::;/\ k k W%Ri% £{0-0002

T H - THE - s TR - HEE XD i e H 7 BN #H fii =
b5
10 m3
7 LSy
& B CEBE - ERIRY £ET)
—2
oY U
10 m3
WEW L T
Y 346, 107
f s U T
= 275, 699
2/ )= Mg E ) B
TR X Sy BRI S, TR Ay Mk it 1
—3
EmED ZbL
7 m3
ElEERR O
EREERRCRERI 7 A7 7V MEAERR, TA7 7 MR RRE 1 1
SemPL T
—2
e ten
TAT 7V MR SRR
310 m

03—93755—4%—1111—%@]




)k ZIK:I:I::;/\ k k W%Ri% £{0-0003

T H - THE - s AR - HEER XD i e H 7 S %H fii =
= s
EBHEERRCRERI - 7 A7 7 v AR, Sl2ERRE  Sem
—2
RS
7277V MR
58 m2
T ALEE T
T 70, 408
I
—1
s 1
R FER - TAT 7V
3 m3
i I
AR 2y -bik (8kAH)
7 m3
WALy
—2
BEM WLER
TAT 7 M T BERA
7 t
BEM WLER
/) ) - BERL (BR7)
17 t

03—93755—4%—1111—%@]




. = H0-0004
k ko ARTEE kk HNERE
T H - THE - s TR - HEE XD i e H 7 BN %H fii
HOKE T
= 1, 757, 967
A
= 1, 705, 343
HENALT (FLFv A R)
—2
HESRALT (FrF v A D) HFD
—1
Fepfea
—2
HeERe
WA ET. bemZ 8 % 12. bembPA T
WA Tyvy—77 RC-40
34 m2
H ik
—2
H Rk
1 m2
L=~
—5

03—92755—?%“—1111—%%)1




kosk ARTE

E0-0005

=
Tl
| =
i

T H - THE - s TR - HEE XD i e H 7 S fii
B
= 52, 624
ARElT
—2
TSHEF T
b 65
2
EAKE T
= 13, 698
| = 13, 698
—3
EKE BN C L
HLIER65A
SMF-V ¢ 65-S
0.5
= 462, 342
BfAE T
= 195, 642

03—92755—?%“—1111—%%)1




)k ZIK:I:I::;/\ k k W%Ri% £{0-0006

FeH - T - it TARE - AR Xy i e H 7 S %H fii =
A M T
| =X 7,479
N
—2
ARREEEE (RIEIH)
i A EHIE
23 m2
ARNpEEEE (R IH)
i A L
46 m2
7477V NEfEE T
= 188, 163
F< ! (H- %)
—3
FE (A IH)
SEEE B AmAd ( EE50mmEL T)
@HLRLFET 22 (20)
23 m2
g (K1EIR)
PR B 1. AmATw ((E_EJE50mmEL )
@R FET 22y (13FH) S0& 1 %Y
46 m2
% T
= 266, 700

03—93755—4%—1111—%@]




kosk ARTE

E0-0007

B

TeH - THE - Jin T4 - B IX Sy

&P

=
Tl
| =
sz

| 266, 700
A3
ERE
2, 724, 668
BBk
54, 000
L R B
53)
678, 000
BT &
732, 000
ol T3y
3, 456, 668
L5 B
43)
1,617, 000

03—§£HE—AJEQ—1111—¥5%D




kosk ARTE

E0-0008

BH - TR - Jiti AR - B R X i e [i7a S % fii

5 By 5

1,617, 000
R

5,073, 668
N Vi

5,073, 668
— % By A

1, 144, 332
SR PR AR

2, 000

R B
Ein

1, 146, 332
T Sk

6, 220, 000

o3—§%ﬂ£—44ﬂ%—1111—¥5%ﬂ






